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125 Capacitors in Series: Energy

Two capacitors are connected in series. Determine an expres-
sion forﬁ the energy stored in each capacitor,, Lor e W
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126 Electrons in a circuit

A 2208 resistor is connected to a 9.0V battery.

a) Determine the number of electrons that flow past any point in the circuit in 30s.

b) Determine the amount of energy needed to push a single electron through the resistor.
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127 Resistors in series and parallel, 2

a) Determine the currents through and
voltages a,f:'ross‘ each resistor in the il 100 200}
lustrated circuit,
b) Determine the potential difference be- 0V == A B
tween points A and B,
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